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Q-1(A)
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Multiple choice type questions:-

& The Derivative of f(x): I :
x

.1a)-
x-

b) x"

If y = 7xt+5x4-20x+37 then at x:l

49.
20

l. All questions are compulsory.
2. Figures to the right indicate full marks:
3. Make suitable assumptions wherever necessary.
4. Staxt new question on new page.
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d)1

when Elasticity of Demand is greater than I , then the Demand is said td be

a) Relatively Inelastic Demand
b) Perfbctly Elastic Demand

For the function f(x) = x +1 , we get
x

a) Minimum 
Y

b) Maximurn

Define the following.

Define: Unitary Elastic Demand.

Find the Derivative of 2x+3using Definition.

dri
dx2

c) Unitary Elastic Demand
d) Relatively Elastic Demand

: positive value , then f(x) is

c) Zero
d) None of these

@ach of I mark) (0s)
B)

1.

2.

3.

Find the derivative otll*-211xz+llwith respect to x.
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4.

5.

Tindtffi'derivative of y : x3+33+3* with reSpect to x.

If theDemand Function iS p : 20-3x then find Marginal Revenue.

Do As, Directed :- (each of 2.5 marks)Q'2

A).
Find the Tangent Line and Normal'Line of 6x2+3xy+2f+ny-A = 0 at (-1,0)

hx +2-x >l
B). Check whether the function f(x): 4 

- 
is Continuous or not.

[ 5'x=l

Q.3 Answer the following questions :-

A). The demand function of a commodity is x = 20 - 2p. Calculate the elasticity of Demand' when the Price is 2.

B). Find Maximum and Minimum values of f(x):4x3+19x2-l4x+3.

Q.4 Do As Directed :- (Attempt Any Two) (10)

A). Determine for all intervals (x): xo- 8x2 , where f is Incniasing or Decreasing.
.t"

md function is p : 20-x and its average cost is Rs. 5 then find MaximumIfthe demeB)' Profit.

The Price of Joggery increases from R.s. 2 per kilogram to Rs. 3 per Kg. and its supply
increases from 2000 Kg. to 2500 Kg. Calculate Elasticity of supply.
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